Multiplication (A)

Calculez chaque produit.

3X 1= 4x5=
2X b= 1 x2=
4x1= 2x1=
I1x1= 2 X 4 =
1 x4= 2X 3=
HDX o= 3 X 3=
2x1= 3X 5=
2x1= 4x3=
2 x4 = 1 x1=
3 X 4= 1 x4 =
3 X b= 1 x4 =
3XH= 1 x3=
3 X 2= HX 4=
2 x4 = 3x1=
4x1= 2X 3=
2X 2= 3XH=
4x3= 2X b=
2 X 4= 3X2=
2 x4 = bx 1=
1 x2= I3x1=
4x3= 2X 2=
1 x4 = 1 x1=
2X 3= 3XH=
1 x4 = 2 X 2=
4x1= bx1=

b x 4=
2X b=
1 x5 =
bX 3=
1 x2=
1 x5 =
1 x5=
2x 1=
4x1=
3x1=
3 X 3=
1 x5=
3 X 4=
2 X 4=
2X b=
3X 5=
1 x3=
3X 4=
2X 2=
b x 4=
3 X 4=
3x1=
bXb=
2X 3=
4x1=
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Multiplication Solutions (A)

4x1=4
4x4=16
Ix4=41
bx2=10
bxX3=15
3x1=3
1x3=3
4x3=12
3x3=9
bxXbH=25
2x1=2
ox2=10
3xXH=15
2x1=2
4x3=12
I1x3=3
3xX4=12
4x2=28
I1x4=141
bx3=15
3x3=9
bx2=10
4x2=28
3xX2=60
Ix1=1

Calculez chaque produit.

3x1=3
2x5=10
4x1=4
Ix1=1
1 x4=4
S5XH=25
2x1=2
2x1=2
2X4=28
3x4=12
3xXH=15
3xH=15
3X2=0
2xX4=28
4x1=4
2xX2=4
4x3=12
2X4=28
2xX4=28
I xX2=2
4x3=12
1 x4=4
2X3=06
I1x4=141
4x1=4

4 x5=20
I x2=2
2x1=2
2xX4=28
2X3=06
3x3=9
3 X H=15
4x3=12
Ix1=1
Ilx4=14
Il x4=4
I1x3=3
5 x4 =20
3x1=3
2X3=0
3x5=15
2x5=10
3X2=06
ox1=5
3x1=3
2x2=4
Ix1=1
3x5=15
2x2=4
O5x1=5

5 x4 =20
2x5=10
I1x5=5
5x3=15
1x2=2
1x5=5
1x5=5
2x1=2
4x1=4
3x1=3
3x3=9
1x5=5
3 X 4=12
2x4=8
2x5=10
3x5=15
1x3=3
3 X 4=12
2x2=4
5 x4 =20
3xX4=12
3x1=3
5 X 5H=25
2X3=06
4x1=4
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Multiplication (B)

Calculez chaque produit.

bx 1= 4x1=
4 x4 = 3x1=
b X b= 3 X 0=
3 X 3= HX 2=
1 x3= 4 x4 =
3 X 5= 1 x4 =
2X 5= 2X b=
4x1= b X 2=
HX 2= HX 2=
1 x4= 3X5H=
3 X 2= HhX 2=
2X 2= 4x1=
4 x 2= I3x1=
b x4 = bx 4=
3 X 3= 2X 3=
b X 2= 4x5H=
bXbH= 3x1=
bx 1= b X 2=
4x4= I x1=
4 x 2= DX 2=
2X 3= b X 3=
1 x2= 4 x 5=
2X b= b x4 =
2 X 2= 3 X 4=
3xX 1= bxXb=
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Multiplication Solutions (B)

4x1=4
DX H=25
2xX2=4
1 x2=2
4x3=12
4x2=28
4 x5=20
b x4 =20
2x2=4
I1x4=41
2x2=4
3x4=12
2x1=2
2x5=10
2x3=60
4 x5=20
1x2=2
bx3=15
I1x5=05
I x5=5
bx1=5
2x4=28
Ix1=1
b X d=25
2x2=14

Calculez chaque produit.

bx1=5
4x4=16
HbXH=25
3x3=9
I1x3=3
3xXH=15
2x5=10
4x1=4
5x2=10
I1x4=141
3X2=0
2x2=4
4x2=28
5 x4 =20
3X3=9
5x2=10
H5XH=25
bx1=5
4x4=16
4x2=28
2X3=0
I x2=2
2x5=10
2x2=4
3x1=3

4x1=4
3x1=3
3xbH=15
5x2=10
4x4=106
I x4=4
2x5=10
5x2=10
5x2=10
3xbH=15
5x2=10
4x1=4
3x1=3
5 x4 =20
2X3=0
4x5=20
3x1=3
5x2=10
Ix1=1
5x2=10
5x3=15
4 x5=20
5 x4 =720
3x4=12
5 X 5H=25

4x4=16
3x4=12
Ix1=1
2X3=06
2x1=2
2x5=10
2x5=10
2X3=06
5 X 5H=25
3xbH=15
5x2=10
4x2=8
3X2=06
5x2=10
4x4=16
4x5=20
2x2=4
1x3=3
5x2=10
5 x4 =20
3x1=3
5 x4 =20
5 X 5H=25
5 X H=25
3X2=06
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Multiplication (C)

Calculez chaque produit.

4x3= 1 x5= 1 x5 = 3 X 3=
4 x4 = 2X 3= bx1l= 4x2=
3 X 3= 3 X 2= bXb= 2X 3=
2X 5= bx 1= b x 4= 4x1=
bX 3= HX 3= 3 x4 = b X 4=
2x1= 3 X 4= 1 x1= 1 x3=
b X b= 3X b= b X 2= 4 x4 =
2x1= 3xX 1= 2x 1= 2 X 4=
S X 4= 3xX 1= 4x4= bX 3=
3 X 3= 2 X 4= 4x2= 2xX 1=
3 X 2= 4x2= 3XH= 3x1=
2x1= 2 X 2= 3 X 3= 4x5H=
1 x5= 1 x3= bX 3= b X 2=
1x1= 3 x4 = 1 x5= 3 X 4=
4x3= 1 x2= 1 x2= 4x1=
4x5= 1 x5= I3x1= 4 x5H=
2X 3= 2X 3= 3 X 2= 3 x4 =
bx 1= IxX 1= 1 x2= 3 X0 =
2X 3= 1 x4= 3 X 3= 4x1=
4x2= 3 X b= 4x3= 3 X 3=
S X 3= I1x1= 4x1= bx 1=
3X 2= bX2= 3 X0 = 3x1=
4x4= 1 x2= 4x2= 4x5=
3x 1= 2X 5= 2X 3= 3 X0 =
4x5H= b X 4= 1 x3= b X 2=
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Multiplication Solutions (C)

4x3=12
4x4=16
3X3=9
2x5=10
OX3=15
2x1=2
55X H=25
2x1=2
5 x4 =20
3x3=9
3X2=0
2x1=2
I x5=05
Ix1=1
4x3=12
4 x5=20
2X3=0
bx1=5
2X3=06
4x2=28
5x3=15
3X2=0
4x4=16
3x1=3
4 x5=720

Calculez chaque produit.

I x5=5
2X3=0
3X2=0
bx1=5
DX 3=15
3X4=12
3xH=15
3x1=3
3x1=3
2x4=8
4x2=28
2x2=4
I x3=3
3x4=12
I x2=2
I x5=05
2X3=0
3x1=3
1 x4=4
3xXbH=15
Ix1=1
Ox2=10
I x2=2
2x5=10
5 x4 =720

I x5=05
O5x1=5
5 X 5H=25
5 x4 =20
3x4=12
Ix1=1
5x2=10
2x1=2
4x4=16
4x2=28
3x5=15
3xX3=9
5x3=15
I x5=05
I x2=2
3x1=3
3X2=06
I x2=2
3x3=9
4x3=12
4x1=4
3xb=15
4x2=28
2X3=06
I x3=3

3x3=9
4x2=28
2X3=0
4x1=4
5 x4 =20
1x3=3
4x4=106
2xX4=38
5x3=15
2x1=2
3x1=3
4 x5=20
5x2=10
3xX4=12
4x1=4
4x5=20
3x4=12
3x5H=15
4x1=4
3x3=9
Obx1=5
3x1=3
4x5=20
3xH=15
5x2=10
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Multiplication (D)

Calculez chaque produit.

2x1= 4x2= 2X b= bXb=
1x1= 2X b= 3 X 2= 1 x5=
3X 3= 4x1= 3X 3= 4x4=
3 X 3= 1x1= bx1= 1 x1=
1 x3= 3 X 2= b X 4= I3x1=
Hbx 1= 4x4= 2x 1= 3X 2=
2 x4 = 4x1= bx1l= 1 x2=
3 X 2= 2 X 4= 2X b= 3 X 3=
1x2= 3 X 4= 3XH= 2 X 4=
2X 3= bx1= 1 x4 = 1 x5=
HX 3= 4x5H= 4x3= 3x1=
4x3= b x4 = 3X 5= 1 x4 =
4x4= 3 X b= bx 4= 2X 2=
2X 3= 1 x5= 1 x4 = 2 X 3=
3 X 4= 2X b= bx 1= 2x1=
4x4= 4x3= bX 3= 2X 2=
2X 3= 1x3= b X 4= 4x3=
2X 5= 2 x4 = 4x2= 2X 3=
4x 2= HX b= bx 1= b X 3=
4x4= 4x1= 2X 3= 1 x2=
4x1= 1 x2= I x1= 2 X 3=
1 x5= 3 X 2= bx1= bx1=
Sx 1= 3 X b= 4x2= 3X 2=
2 X 3= 3 X 5= 4 x4 = DX bH=
2x1= 4x3= 1 x5 = 4x5=
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Multiplication Solutions (D)

2x1=2
Ix1=1
3X3=9
3x3=9
1x3=3
bx1=5
2xX4=28
3X2=0
1 x2=2
2X3=0
bx3=15
4x3=12
4x4=16
2X3=06
3x4=12
4x4=16
2X3=0
2x5=10
4x2=8
4x4=16
4x1=4
I x5=5
bx1=5
2X3=06
2x1=2

Calculez chaque produit.

4x2=28
2x5=10
4x1=4
Ix1=1
3X2=0
4x4=106
4x1=4
2x4=8
3x4=12
bx1=5
4 x5=20
ox4=20
3xXbH=15
I x5=05
2x5=10
4x3=12
I1x3=3
2X4=28
5XbH=2)
4x1=4
1 x2=2
3X2=0
3xX5H=15
3xH=15
4x3=12

2x5=10
3X2=06
3X3=9
O5x1=5
5 x4 =20
2x1=2
ox1=5
2x5=10
3x5=15
Ix4=14
4x3=12
3 X H=15
5 x4 =20
1 x4=4
bx1=5
5x3=15
5 x4 =20
4x2=28
ox1=5
2X3=06
Ix1=1
Obx1=5
4x2=28
4x4=106
I x5=05

5 X 5H=25
1x5=5
4x4=106
I1x1=1
3x1=3
3X2=06
1x2=2
3x3=9
2x4=28
1 x5=5
3x1=3
1x4=4
2x2=4
2X3=06
2xX1=72
2x2=4
4x3=12
2X3=06
H5xX3=15
1x2=2
2X3=06
bx1=5
3X2=06
5 X H=125
4 x5=20
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Multiplication (E)

Calculez chaque produit.

4 x4= 2X 3= 2 X 4= 3 X 0=
3 X 2= 2xX 1= bXb= 1 x4 =
Sx 1= I1x1= 4x4= 1 x5=
4x5H= 1 x4= 3 X 4= bX 3=
2x1= 1 x3= 4x1= b X 3=
3 X b= 2X b= 3 X 2= 2X b=
2X 5= HX 2= HbX 3= 4 x4 =
2 X 4= 3 X 2= 3X2= 3X2=
HX 2= 3 X 4= bx 1= 4x2=
3 X 4= bx 4= 1 x5= 4x4=
2X 2= HX 2= 1 x4= 1 x5 =
4x1= 2X 3= 4x5= 3 X 2=
bx 1= HbX 3= bX2= 1 x3=
4x2= 3x 1= 3 X 4= 2X b=
3xX 1= 3 X b= 4x2= 4x1=
HX 2= 3 X 3= b X 2= bX 3=
3XH= 3 X 2= 4x5= 4 x4 =
4x1= 2X 3= 1 x4= 4x5=
4x1= HX 2= 4 x4 = 2 x4 =
HX b= Sx 1= 4x2= 4x3=
1 x5= 4x5= S x4 = 3x 4=
4x5= 4x5= b X 3= 4x5=
3x1= 3 X 2= b x4 = 4x4=
I1x1= HX 2= 1 x4 = bx 1=
DX 2= 3 X 2= 1 x3= 2 X 2=

MathsLibres.com




Multiplication Solutions (E)

4x4=16
3X2=0
bx1=5
4 x5=720
2xX1=2
3xbH=15
2x5=10
2x4=28
5 x2=10
3x4=12
2xX2=4
4x1=4
bx1=5
4x2=8
3x1=3
5 x2=10
3xXb=15
4x1=4
4x1=4
bXH=2)
I1x5=05
4 x5=720
3x1=3
Ix1=1
bx2=10

Calculez chaque produit.

2X3=0
2x1=2
Ix1=1
I x4=4
I1x3=3
2x5=10
5x2=10
3X2=0
3x4=12
O x4=20
5x2=10
2X3=0
5x3=15
3x1=3
3xXbH=15
3x3=9
3X2=0
2X3=0
5x2=10
bx1=5
4x5=20
4 x5=20
3X2=0
5x2=10
3X2=0

2X4=38
5 X 5H=25
4x4=16
3xX4=12
4x1=4
3X2=06
5 x3=15
3X2=0
O5x1=5
I x5=5
Il x4=4
4 x5=20
5x2=10
3x4=12
4x2=28
5x2=10
4 x5=20
I x4=4
4x4=16
4x2=28
5 x4 =20
bx3=15
5 x4 =720
Ilx4=141
I x3=3

3x5H=15
1x4=14
I1x5=5
5x3=15
5x3=15
2x5=10
4x4=106
3X2=06
4x2=28
4x4=106
1x5=5
3X2=06
1x3=3
2x5=10
4x1=4
S5x3=15
4x4=106
4 x5=20
2x4=8
4x3=12
3xX4=12
4 x5=20
4x4=106
OoX1=95
2x2=4
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Multiplication (F)

Calculez chaque produit.

2 X 2= I x1= 1 x2= 1 x2=
Hbx 1= 1 x5= 2 X 4= 1 x2=
Ix1= 1 x2= 4x4= 3 X 2=
2x1= 2 x4 = 3 X 4= 3 X 4=
4 x4 = 2X 3= 4x3= 2x1=
1x2= 2 X 4= 2 X 2= 4x3=
4 x4 = 2X 5= 1 x3= b X b=
4x5= 4x4= 3 X 3= b X 2=
2X 3= 3 X 4= 4x5H= 4x1=
2X 2= 2X 3= 3 X 4= 1 x4=
4x1= 4x5H= 2X 3= 3 X0 =
1 x4= HX 3= 1 x2= 4x1=
1 x4= 1 x3= 4x1= 3 X 3=
4x5= 4x3= 2 X 4= 3 X 4=
2X b= b X 4= 4x5= 3 X 4=
4x5= 4x2= 1 x3= 3X 2=
2X 5= 4x 2= 4x3= 1 x4 =
SX 4= 4x4= 4x4= 2X b=
O X 4= 4x2= 1 x2= 1 x3=
3 X 2= 2X 2= 4x4= bx1=
Sx 1= 2 X 4= 4x3= b X 3=
3 X 2= 1 x5= 3 X0 = b X 3=
3 X b= 3 X 2= 4x2= 3x1=
1 x4= 1 x3= 1 x2= 1 x2=
3 X 2= 4x2= 2x 1= 4x4=
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Multiplication Solutions (F)

2X2=4
b5x1=5
3x1=3
2x1=2
4x4=16
1 x2=2
4x4=16
4 x5=720
2X3=06
2xX2=4
4x1=4
I1x4=141
1 x4=4
4 x5=20
2x5=10
4 x5=20
2x5=10
b x4 =20
5 x4 =20
3X2=0
bx1=5
3X2=0
3xXbH=15
lx4=41
3X2=0

Calculez chaque produit.

Ix1=1
I x5=05
1 x2=2
2X4=28
2X3=0
2x4=28
2x5=10
4x4=16
3x4=12
2X3=0
4 x5=20
DX 3=15
I x3=3
4x3=12
5 x4 =20
4x2=28
4x2=28
4x4=16
4x2=8
2x2=1414
2xX4=28
I x5=5
3X2=0
I1x3=3
4x2=28

I x2=2
2x4=38
4x4=16
3X4=12
4x3=12
2x2=4
I1x3=3
3x3=9
4x5=20
3x4=12
2X3=06
1 x2=2
4x1=4
2x4=8
4 x5=20
I1x3=3
4x3=12
4x4=106
1 x2=2
4x4=16
4x3=12
3xb=15
4x2=28
I x2=2
2x1=2

1x2=2
1x2=2
3X2=0
3xX4=12
2x1=2
4x3=12
5 X H=125
5x2=10
4x1=4
1x4=14
3x5H=15
4x1=4
3x3=9
3x4=12
3x4=12
3X2=06
1x4=4
2x5=10
1x3=3
bx1=5
bx3=15
bx3=15
3x1=3
1x2=2
4x4=106

MathsLibres.com




Multiplication (G)

Calculez chaque produit.

1 x5= 3 X 3= bx 1= 1 x4 =
3 X 4= 3 X 2= 1 x1= bx 4=
3 X 2= 1 x4= I X 1= 2 X 2=
4x3= 3 X b= 1 x1= 3X 2=
1 x5= 3 X 4= 2x1= 4x3=
4x2= b Xb= 2X b= 4x2=
4x2= 3 X 3= 4x2= 2 x4 =
3 X 4= bX 3= 2X b= 4x1=
4x2= 4x5H= 2X 3= 1 x5=
4x4= b X b= 3x1= 2 X 3=
2X 2= 4x 2= 3x1= 1 x4=
1 x4= HX b= b X b= 2X b=
DX b= 4x5= 3 X 5= 1 x4 =
3x 1= 1 x3= 4x 2= b X b=
3 X 3= 2X b= 2 X 4= 2 X 3=
1 x4= b x4 = 1 x4 = 2x1=
HX 2= 4 x4 = 4 x4 = b X 3=
4x1= 3 X 2= 4x1= 4x2=
2xX1= 1 x4= 4 x4 = 2X b=
DX 3= 1 x3= bX2= 2 X 2=
1 x3= I1x1= 3 X 2= 3x 4=
b X 4= 3 X 2= 4x1= 2 X 4=
3 X 3= 2X 3= 1 x2= bx 4=
4x5= HX 2= 4x3= bx 1=
3 X 2= I1x1= bxXb= 4x5=
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Multiplication Solutions (G)

I x5=05
3x4=12
3X2=0
4x3=12
1 x5=05
4x2=28
4x2=8
3x4=12
4x2=28
4x4=16
2xX2=4
I1x4=141
b X H=2)
3x1=23
3xX3=9
Il x4=14
bx2=10
4x1=4
2x1=2
bx3=15
I1x3=3
5 x4 =20
3x3=9
4 x5=20
3X2=0

Calculez chaque produit.

3x3=9
3X2=0
1 x4=4
3xXH=15
3x4=12
S5XH=25
3x3=9
bx3=15
4x5=20
H5XH=25
4x2=28
5 X H=25
4 x5=20
I1x3=3
2x5=10
5 x4 =20
4x4=16
3X2=0
1 x4=14
I x3=3
Ix1=1
3X2=0
2X3=0
5x2=10
Ix1=1

bx1=5
Ix1=1
3x1=3
Ix1=1
2x1=2
2x5=10
4x2=8
2x5=10
2X3=06
3x1=3
3x1=3
5 X H=125
3x5H=15
4x2=8
2X4=28
Il x4=4
4x4=106
4x1=4
4x4=16
5x2=10
3X2=06
4x1=4
I x2=2
4x3=12
5 X 5H=25

1x4=4
5 x4 =20
2xX2=4
3X2=06
4x3=12
4x2=28
2x4=8
4x1=4
1x5=5
2X3=06
1x4=4
2x5=10
1x4=4
5 X H=125
2xX3=0
2x1=2
bx3=15
4x2=28
2x5=10
2x2=4
3xX4=12
2xX4=38
5x 4 =20
OoX1=95
4 x5=20
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Multiplication (H)

Calculez chaque produit.

4x3= b X 2= 4x4= b X 2=
4x4= 3xX 1= 3 X 4= 2X 3=
4x5= 2 X 3= 4x3= bX2=
2X 5= 1 x3= 1 x1= 4x3=
1 x3= 4x3= 1 x1= 4x3=
3 X 3= b Xb= bXxXb= 1 x5 =
HX 3= 4x1= 2X 2= 4x2=
1 x5= 2X b= 2x 1= 3X 4=
4x2= 1 x5= 3XH= 2x1=
4x5= 3X 5= 1 x2= bXH=
b X b= 4x3= 4x2= 3 X 3=
O X 4= DX d= b X 4= 4x3=
b X 4= 4x2= 1 x1= 1 x1=
3 x4 = b X b= HbX 3= 1 x1=
2 X 4= bX2= 1 x2= 2x 1=
4x5= 4x4= 3 X 4= 1 x2=
3XH= 4 x4 = 1 x4 = 4x3=
1 x3= 1 x4= 1 x5 = 4 x4 =
4x3= 3 X 3= 2X b= 4 x4 =
1 x3= bx 1= 3 X 3= 3x1=
3 X 3= b X b= 4x4= bx 1=
O X 1= 2X 2= bx 4= bXb=
4x5= 3 X 4= HX 2= 3x1=
4x3= 4x3= 3x1= 2x1=
4x3= 4x5= 2 X 2= 3X 2=
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Multiplication Solutions (H)

4x3=12
4x4=16
4 x5=720
2x5=10
1x3=3
3x3=9
5x3=15
I x5=5
4x2=28
4 x5=720
b X 5H=25
5 x4 =20
5 x4 =20
3x4=12
2x4=28
4 x5=20
3xXb=15
I1x3=3
4x3=12
I1x3=3
3x3=9
bx1=5
4 x5=720
4x3=12
4x3=12

Calculez chaque produit.

5 x2=10
3x1=3
2x3=60
1 x3=3
4x3=12
S5XH=25
4x1=4
2x5=10
I x5=05
3xXbH=15
4x3=12
5 X H=25
4x2=28
5 X H=25
5x2=10
4x4=16
4x4=16
I x4=14
3x3=9
bx1=5
5xH=25
2xX2=4
3x4=12
4x3=12
4 x5=720

4x4=106
3xX4=12
4x3=12
Ix1=1
Ix1=1
HXb=25
2x2=4
2x1=2
3xXb=15
I x2=2
4x2=28
Ox4=20
Ix1=1
5x3=15
I x2=2
3xX4=12
Ilx4=14
I x5=5
2x5=10
3xX3=9
4x4=106
5x4=20
5x2=10
3x1=3
2x2=414

bx2=10
2X3=06
5x2=10
4x3=12
4x3=12
1x5=5
4x2=8
3x4=12
2x1=2
b X b5H=25
3x3=9
4x3=12
Ix1=1
I1x1=1
2x1=72
1x2=2
4x3=12
4x4=106
4x4=16
3x1=3
Obx1=5
5 X 5H=25
3x1=3
2x1=2
3X2=06
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Multiplication (I)

Calculez chaque produit.

1 x1= bx 4=
b X b= bx 1=
4x5= 1 x5 =
HbXx 4= HXH=
1x1= 1 x3=
HbXx 4= 1 x3=
b x4 = bXbH=
4x3= 3X2=
1 x5= 1 x5=
4x4= 2 X 4 =
HbX 3= bx 1=
bXbH= 2 X 4 =
2X 2= 1 x3=
1 x4= 3 X 4=
2 X 3= 2X 3=
2 x4 = 2 X 2=
3 X 4= 3 X 2=
4x4= 4x1=
2XH= 1 x4 =
HXbH= 2% 5 =
2X 2= 2X 5=
3 X 2= 3 X 5=
3 X 4= 1 x3=
4x5= 3 X 4=
2X 2= 1 x5 =

bX3=
bXb=
2X b=
1 x3=
b X 3=

1 x4 =
I x1=
bx 4=
2X b=
3X 2=
2X 3=
4x2=
4x1=
4x1=
3X 4=
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Multiplication Solutions (I)

bx2=10
3x4=12
4 x5=720
4x4=16
3xX4=12
1 x2=2
55X H=25
2x5=10
3X2=0
2x4=28
4x4=16
DX H=2)
4 x5=720
2xX4=28
3xX3=9
1 x2=2
I1x3=3
2x2=4
1 x2=2
bx2=10
5 X H=25
bx2=10
1 x2=2
2x5=10
2x2=4

Calculez chaque produit.

Ix1=1
S5 X H=25
4 x5=20
5 x4 =20
Ix1=1
5 x4 =20
5 x4 =20
4x3=12
I x5=05
4x4=16
5x3=15
5 X H=25
2x2=1414
1 x4=4
2x3=0
2xX4=28
3x4=12
4x4=16
2x5=10
5XH=25
2x2=4
3X2=0
3x4=12
4 x5=20
2x2=4

5 x4 =20
O5x1=5
I xb5=5
5 X 5H=25
I1x3=3
I x3=3
5 X H=125
3X2=0
I x5=05
2x4=8
O5x1=5
2x4=28
I x3=3
3x4=12
2X3=0
2x2=4
3X2=06
4x1=4
1 x4=4
2x5=10
2x5=10
3xb=15
I x3=3
3x4=12
I x5=05

5x3=15
5X5H=25
2x5=10
1x3=3
5x3=15
3x3=9
I1x1=1
I1x5=5
3x1=3
3x4=12
4x2=28
1x5=5
1x4=4
3 X H=15
4x2=28
1x4=14
Ix1=1
5 x4 =20
2x5=10
3X2=06
2X3=06
4x2=28
4x1=4
4x1=4
3X4=12
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Multiplication (J)

Calculez chaque produit.

3 X 3= 2 X 4= bx 4= 4x4=
1 x4= HbX 2= b X 2= 1 x4 =
4x4= 3x 1= 1 x1= 2X b=
4x3= 2 x4 = 2 X 2= 4x1=
HX 3= 2x1= 4 x4 = 3 X 2=
4x4= 2X b= 4x4= 4x5=
HXx 4= 2 x4 = I3x1= 4x2=
4x5= 3 X 4= 3X2= 4x2=
HX 2= 3 X 2= 4x1= 2X b=
DX b= HX 2= 3x1= 1 x1=
3 X 4= 2X b= 1 x5 = 1 x3=
DX D= 4x2= 2 X 2= 4x3=
2x1= 3 X 2= 4x1= 2x 1=
3 X 3= 1 x3= 4x1= 3 X 2=
1 x3= 3 X 2= 4x1= bX3=
HX 2= SX 4= 3x1= 1 x2=
1x1= 1 x5= 4x3= b X 4=
1 x5= 4x1= 1 x3= bx1=
1 x1= 1x1= 4x1= 2X 3=
3xX 1= 3 X 2= 1 x2= 2X b=
2x1= S X 2= 4x2= bx2=
1 x2= 1 x5= 2x 1= 1 x2=
3 X b= 2X 2= 2X 3= 2X b=
4x1= 2x 1= 3 X 3= 1 x3=
4x1= 1 x3= bx1l= 3X 4=
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Multiplication Solutions (J)

3x3=9
1 x4=14
4x4=16
4x3=12
bx3=15
4x4=16
5 x4 =20
4 x5=720
5x2=10
bxXbH=25
3x4=12
bXb=125
2x1=2
3x3=9
I x3=3
5 x2=10
Ix1=1
I x5=05
Ix1=1
3x1=3
2x1=2
1 x2=2
3xXbH=15
4x1=4
4x1=4

Calculez chaque produit.

2x4=28
5x2=10
3x1=3
2X4=28
2x1=2
2x5=10
2xX4=28
3X4=12
3X2=0
Ox2=10
2x5=10
4x2=28
3X2=0
I1x3=3
3X2=0
5 x4 =20
I x5=5
4x1=4
Ix1=1
3X2=0
5x2=10
I x5=5
2xX2=4
2x1=2
I1x3=3

5 x4 =20
5x2=10
Ix1=1
2x2=4
4x4=106
4x4=16
3x1=3
3X2=0
4x1=4
3x1=3
I x5=05
2x2=4
4x1=4
4x1=4
4x1=4
3x1=3
4x3=12
I x3=3
4x1=4
I x2=2
4x2=8
2x1=72
2X3=06
3xX3=9
O5x1=5

4x4=16
1x4=14
2x5=10
4x1=4
3X2=0
4 x5=20
4x2=8
4x2=28
2x5=10
I1x1=1
1x3=3
4x3=12
2x1=2
3X2=06
bx3=15
1x2=2
5x4=20
S5x1=5
2X3=06
2x5=10
5x2=10
1x2=2
2x5=10
1x3=3
3X4=12
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